
INSTALLATION INSTRUCTIONS
RAFTER FOOT RF01

INSTALLATIE VAN DECORATIEVE SPANTVOETEN | INSTALLATION DES PIEDS DE CHEVRON 
DÉCORATIFS | INSTALLATION VON DEKORATIVE SPARRENFÜSSE | INSTALACIÓN PIE DE 
CABRIO DECORATIVO | ИНСТРУКЦИЯ ПО ДЕКОРАТИВНАЯ СТРОПИЛЬНАЯ НОГА

UM
43

0 
 - 

12
/2

02
1

1

2

Ready? Set? Go!
INSTALLATION
GUARANTEE

WWW.ORACDECOR.COM
>> INSTALLATION

ATMOSPHERE 
& SURFACE

Ready?

Set? DO NOT USE ORAC DECOFIX OR DECOFILLER TO MOUNT OR FINISH
Gebruik geen DecoFix of DecoFiller om te monteren of af te werken
Ne pas ulitiser DecoFix ou DecoFiller pour monter ou finir
Verwenden sie keine DecoFix oder DecoFiller zur Montage oder Fertigstellung
No utilice DecoFix o DecoFiller para montar o terminar
НЕ ИСПОЛЬЗУЙТЕ DecoFix ИЛИ Decofiller ДЛЯ МОНТАЖА ИЛИ ОТДЕЛКИ

RF01 AND RF01-RAL9005 ARE PRE-FINISHED AND SHOULD NOT BE PAINTED ON SITE
RF01 en RF01-RAL9005 zijn voorbewerkt en hoeven NIET te worden geverfd
RF01 et RF01-RAL9005 sont préfinis et ne doivent PAS être peints sur place
RF01 und RF01-RAL9005 sind vorlackiert und müssen vor Ort NICHT gestrichen werden
El RF01 y el RF01-RAL9005 están preacabados y NO tienen que ser pintados en la obra
RF01 и RF01-RAL9005 предварительно обработаны, и их не нужно красить на месте

RF01 (RAL9005)
48 x 65 x 113 mm
Purotouch®  

RF01-RAL9005RF01
(RAL9003)

RF01-RAL9005

!

48 mm
113 mm

65 mm

Each RF01 will come with the click fi t footplate pre-installed
Elke RF01 wordt geleverd met de click-fi t voetplaat voorgeïnstalleerd

Chaque RF01 est livré avec la plaque de pied encliquetable pré-installée
Jedes RF01 wird mit der vorinstallierten Click-Fit-Fußplatte geliefert

Cada RF01 vendrá con la placa de pie de ajuste a presión preinstalada
В каждый RF01 предварительно установлена пластина для крепления ножек с защелко

Storage conditions: store profiles and adhesives at room temperature.
Opslagvoorwaarden: bewaar profielen en lijmen op kamertemperatuur.
Conditions d’installation: Stockez les profils et les colles à température ambiante.
Lagerbedingungen: Profile und Kleber bei Zimmertemperatur lagern.
Condiciones de almacenamiento: Colocar molduras y adhesivos en el lugar.
Условия хранения: профили и клеи хранить при комнатной температуре.

DECOFIX ADHESIVES

FRONT

BACK



INSTALLATION

Go!
3 INSTALLATION INSTRUCTIONS

RAFTER FOOT  RF01

Correct installation position
Correcte installatiepositie

Position d’installation correcte
Korrekte Einbaulage

Posición correcta de instalación
Правильное положение установки

Original rafter feet on the house | Originele spantvoeten 
op het huis | Pieds de chevron d’origine sur la maison | 
Original-Sparrenfuß am Haus | Pies de cabrio originales en 
la casa | Оригинальные стропильные ноги на доме

Fascia
Dak frontlĳ st
Fascia
Fassade
Fascia
фасад

Use 1 x 38 mm anodised screw
Gebruik 1 x 38 mm geanodiseerde schroef
Utilisez une vis anodisée de 1 x 38 mm
1 x 38 mm eloxierte Schraube verwenden
Utilice 1 tornillo anodizado de 38 mm
Используйте анодированный винт 1 x 38 мм

front view
vooraanzicht
vue de face

Vorderansicht
vista frontal

вид спереди

Leading edge is fi tted with the vertical forward edge butted up to 
the rear edge of the fascia board | De vlakke rand van de RF01 sluit 
aan tegen de voorkant van de dakspant en schuint naar de muur toe 
| Le bord plat de la moulure va à l’avant du soffi te et fait un angle 
vers le mur | Die fl ache Kante der Leiste geht zur Vorderseite der 
Laibung und winkelt zur Wand hin ab | El borde plano de la moldura 
va hacia la parte delantera del plafón y se inclina hacia la pared | 
Плоский край молдинга идет к передней части софита и под 
углом к стене

Gutter
Dakgoot
Gouttière
Dachrinne
canalón
водосток

Soffi t
Dak onderlĳ st
Soffi te
Dachuntersicht
Sofi to
софит

Secure each lightweight RF01 at 600 mm centres with 1 x 38 mm anodised screw 
before felt and battening the roof. Each RF01 will come with the click fi t footplate 
pre-installed.

NIEUWBOUW - Bevestig elke lichtgewicht RF01 
op 600 mm afstand van elkaar met 1 x 38 mm
geanodiseerde schroef voordat u het dak bedekt | 
NOUVELLE CONSTRUCTION - Fixez chaque RF01 
léger tous les 600 mm avec une vis anodisée de 1 
x 38 mm avant de fermer le toit | NEUER AUFBAU
- Befestigen Sie jedes leichte RF01 im Abstand von 
600 mm mit 1 x 38 mm Eloxalschraube, bevor Sie 
das Dach schließen | NUEVA CONSTRUCCIÓN - 
Fĳ e cada RF01 ligero a 600 mm entre centros con 1 
tornillo anodizado de 38 mm antes de cerrar el tejado
| НОВАЯ КОНСТРУКЦИЯ - Перед закрытием 
крыши закрепите каждый легкий RF01 на 
расстоянии 600 мм друг от друга с помощью 
1 x 38 мм анодированного винта

www.oracdecor.com

600mm 600mm

Space dentils at 600mm centres | Plaats de ornamenten op 600 mm afstand van elkaar | Espacer les ornements tous les 600 mm |
Im Abstand von 600 mm anbringen |Espaciar los dinteles a 600 mm entre sí | Установите зубцы с шагом 600 мм.2

1

A NEW BUILD Screw rafter foot to soffi t, before felt and battening the roof.



INSTALLATION

Go!
3 INSTALLATION INSTRUCTIONS

RAFTER FOOT  RF01

Correct installation position
Correcte installatiepositie

Position d’installation correcte
Korrekte Einbaulage

Posición correcta de instalación
Правильное положение установки

Original rafter feet on the house | Originele spantvoeten 
op het huis | Pieds de chevron d’origine sur la maison | 
Original-Sparrenfuß am Haus | Pies de cabrio originales en 
la casa | Оригинальные стропильные ноги на доме

front view
vooraanzicht
vue de face

Vorderansicht
vista frontal

вид спереди

Leading edge is fi tted with the vertical forward edge butted up to 
the rear edge of the fascia board | De vlakke rand van de RF01 sluit 
aan tegen de voorkant van de dakspant en schuint naar de muur toe 
| Le bord plat de la moulure va à l’avant du soffi te et fait un angle 
vers le mur | Die fl ache Kante der Leiste geht zur Vorderseite der 
Laibung und winkelt zur Wand hin ab | El borde plano de la moldura 
va hacia la parte delantera del plafón y se inclina hacia la pared | 
Плоский край молдинга идет к передней части софита и под 
углом к стене

Where the RF01 is to be installed as a ‘retro-fi t’ to PVC-u soffi ts 
mechanical fi xing is not possible. In such cases it is possible to 
secure the product by using suitable superglue and activator.  

RENOVATIE - bĳ  installatie op PVC-u lĳ sten is 
mechanische bevestiging niet mogelĳ k. Monteer het 
product dan met behulp van geschikte superlĳ m en 
activator | RENOVATION - Lorsque le RF01 doit 
être installé sur des soffi tes en PVC-u, la fi xation 
mécanique n’est pas possible. Dans ce cas, il est 
possible de fi xer le produit en utilisant une superglue 
et un activateur appropriés | RENOVIERUNG - 
Wenn das RF01 an PVC-Unterdecken montiert 
werden soll, ist eine mechanische Befestigung 
nicht möglich. Montieren Sie das Produkt mit 
einem geeigneten Sekundenkleber und Aktivator | 
RENOVACIÓN - Cuando el RF01 se vaya a instalar 
en plafones de PVC-u, la fi jación mecánica no es 
posible. Instale el producto utilizando un superglue 
adecuado y un activador | РЕНОВАЦИЯ - Если 
RF01 должен быть установлен на софиты из 
ПВХ, механическая фиксация невозможна. 
Установите изделие с помощью подходящего 
суперклея и активатора. 

Before fi tting please check with your supplier that the glues/activators will be 
UV stable before applying the mouldings to the soffi t.

Apply a small amount of superglue to the top edges of the RF01, and spray 
activator onto the soffi t at 600mm centres whilst working along the building.

Butt up the vertical leading edge of the RF01 to the back of the fascia, and squeeze 
into place on the soffi t (you should hear a sound like dry ice – the product will be 
welded into place and secure instantly)

www.oracdecor.com

600mm 600mm

4

1

2

3

B REFURBISHMENT

Apply suitbale UV stable mounting glue to the top edges
Breng geschikte UV-stabiele montagelĳ m aan op de bovenranden
Appliquez une colle de montage appropriée, stable aux UV, sur les bords supérieurs
Tragen Sie einen geeigneten UV-stabilen Montagekleber auf die oberen Kanten auf
Aplique un pegamento de montaje adecuado y estable a los rayos UV en los bordes superiores
Нанесите на верхние края подходящий монтажный клей, устойчивый к
   ультрафиолетовому излучению

Fascia
Dak frontlĳ st
Fascia
Fassade
Fascia
фасад

Gutter
Dakgoot
Gouttière
Dachrinne
canalón
водосток

Soffi t
Dak onderlĳ st
Soffi te
Dachuntersicht
Sofi to
софит

!

Space dentils at 600mm centres | Plaats de ornamenten op 600 mm afstand van elkaar | Espacer les ornements tous les 600 mm | 
Im Abstand von 600 mm anbringen |Espaciar los dinteles a 600 mm entre sí | Установите зубцы с шагом 600 мм.


